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L,‘Jfﬁ:/»c_ufg,lu’bé{_.)&V&Jlr/f{gé(L}b? ..u_?éic:..: Ds C'BA .':«Lb?;«@[g&dbﬁf y

T
-fﬁ/}gﬁglﬁazﬁdﬁo/ﬂJL& /-bl{ L L//:i(u:)'bu&j&,..{' -ZT:J/.‘:_.Q?L/:L:G/"JJWJW
Note : Four possible answers A, B, C and D to each question,are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.
The order of variables of two separate terms is not 7 dnuﬁ;’uﬁ,{'}g{ FAS ST aaee 11
important in ----: . .
Commutative law  J:l» s (B) Associative law (I SE (A)
Identity law /76 3153%s13~ (D) Distributive law i /76 (C)
Which of the following is not a characteristic of good password : : r‘_u:’.@}(,( snJ gélu’ufc, uﬁd_’ R10%) 2

Does not contain user name :ug,p/;(izjz‘ (B) s eight character long :Jb"/,_._i;]p? T (A)

Password is your name  »t 6~ TisL (D)  Contain upper case letter wFrisze. (C)
r ki k4 >

The ----- element is a container for metadata : ; ‘Lag L3 L‘:u’lz;,.l "
< html > (D) < Title > (C) < head > @)\&@ body > (A

) (2 ) ) (Q;)_, T~ ) ‘;’ﬁ '.- .‘

1 - ' ; S S|4

Due to - error, the solution is working but not - t‘ﬁgzg.)uf .,,@Z%%%,t‘rl‘mf (‘f o f)

giving correct result :

’0
Logical error /{'J{.’- U( @Random error il A (A)

Runtime error /{if'ggj(z\ Syntax error 4! oSt (C) .
e 1956 T sl
----- is a symbol of start and end in flow chapts O\i i q_,wa(w iy " 5
<O @ <) D@ —n
i c\;\ i§ <t R J@Jduﬂ'd/!/_'_ [ Seusle
An example of volatile / prima - . . .
cb §35 (D) RaM (., (C)  USBU-un-4(B) Hard Disk L334 (A)
o bl e e BHTML 7
There are — of headings in HTML ; ‘Lgcn.,f,ﬁf(" u; o
1 (D) 6 (C) 5 (B) - L
15 B 2T o fUEInUE I e
. used method of encryption for sending: - YU s FES K,y.,{!#’ EE b JUm U % 8
to his Soldiers and Generals : 4
e Hacker (D) caesar (C) vigenere (B) Cipher (A)
‘ . e DHCP|g
DHCP stands for ----- . - N
Dynamic Host Computer Protocol  (B) Data Host Computgr Prot.oco| (C)
Double Host Computer Protocols (D) Dynamic Host Configuration Protocol ( ) /f
e tS e e et A 10
To home user internet service is given by - A 4 FTP/(A)
isP (D) HTTP (C) SMTP (B)
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ions : :éuw,"[...,mrm)wa_éf 2
8 2. Write short answers to any Four (4) questions Z:UL(J{/,; ‘U/Jaba,u/ﬂ "

(i) Describe "Divide and Conquer” strategy. AR S raSad S (i)

(i) Define the verification. /_,L,.,Lljnbofu/w" (i)
(iii) Draw four flowchart symbols. Z.:JVJ /},k”df,l}’ (iv)
(iv) Give example of "wrong data format™ _chU}JJCFJCM’ (V)

(v) Explain the head section in web page. eg ’J< then<mos i o
% " » r“
f<P>Thisis<br>a -&<¢=
(vi) Write the output o

aph </ P >. P "’L-my(4)/b¢.tjf-3
it swers to any Four (4) questions : ;& =2 FLe b
8 3. Write shortan e SSEF )

(i) Write the importance of encryption. éyu,d,‘ :}:’V o
(ii) Explain cipher text. . 2 e

(é,’JJJ) @
%O L__' ,\ r L A3
3. (ili) Explain number system. é& ~£.:«>L'o;d/(l£}dw (i) -3
(iv) How do you describe "Remainder"? %5@ -é =0 U;J "Remainder"  (iv)
(V) Define computer memory. e &ngfd»‘.’/‘g{ (v)
(vi) Narrate ASCII code. -éu)tud/:fASCH (vi)
8 4. Write short answers to a 6% 4) questions : 4 A4 /f L =y (4) e = Jf -4

(i) HTTP stands for? ‘e S5 HTTP (i)

(if) Write down the f Communication system. _é/fdwin’/u’“E" (ii)
(iii) Reproduce file sharing. _c‘:ubu"b ngb’:f/‘lﬂs (iii)
(iv) Define multi point connection. é”: - /‘U/u’a .,/uu* (iv)
(v) Write down the method of applying background _’&5.3_{/’(4_6/)3 l/ygfé%; (v)

colours to a web page.
(Vi) Why anchor is used in web page? g C’nJL"p’u:ﬁ//ﬁ-U.’ Ewes (Vi)
( PART- 1T ¢y =)
Note : Attempt any fwo questions. | _é =R L ety e Jf P

8 5. How can you measure the efficiency of B s 3L Je s pe é(gd:d/l}CKJZ)m:,T

algorithm? Explain with example.

e
22,22 6. Explain the components of communication system. ,if_") L};JﬂZlﬁf/u%%f/ =6
8 7. Write down the characteristics of good password. LB fe s inJgl& U7
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L.,,uz_w:c_u:u,/’uafc:_)&védlm{qwm -tZLisDACBA A2l vy oy
-(n/r“;w.._,b?uﬁuf:u)“fi_/’z Jok ¢ L/&L’J/":o;&);ug ..ZT_"J/LJ.;-L/';L!C/’UW&W

Note : Four possible answers A, B, C ar?td D to'each question are given. The choice which you

think is correct, fill that circle in frorit of that question with Marker or Pen ink in the answer book.
Cutting or filling two or more circles will result in zero mark _in that question.

Every data packet has an ---- address : : gmu;'é, e :’gﬁa’gw/‘, 1 -1
IP $d7 (D) Real &7 (C) . Common £ (B) Virtual dk #A)
To save the HTML page, we can use - as file : (Jfd /W anbius) ___ ﬂgc/@ffé?HdAng 5
extension : ) T
xhtml (D)  Both Aand B/B AU (C) html (B) htm 4(A)
----- is not example of non-volatile memory : fe u:zUp.J S ijﬁm:,&t —3

Hard drive #1} 3 (D) RAM (£, (C)  Memory card 3,65 (B) Flash dive #13J%° (A)

Which is not a cyber crime : @Kﬁé“l Uf(’" /;'-’/VL/C) 7 .
Phishing crime #1./_{% (B) Hacking @ & a)
Decryption u”v-.( 5 (D) Identi ”;J =3t (C)
(é’&z;) by
W@ o
Efficiency of an algorithm is measured on the basis @%gs . 4".‘.6'6 Lyp{_lg{u”.l{: ——— JJIZKJ({;‘T' 5-1
six # (D) Five &1 (g)/@ Four /& (B) Two 8 (A)
Routers connect multiple ---- together : N St uuﬂﬁ:ff R 4._1(,;_.,;/,/‘;, 6
Places u:;'é (D) Pe, ©) Networks (/& (B)  Softwares iz L (A)

] e L - 2T 2 |
In formation of an algorithm, Wmmbol isusedto ‘LdthJWIywuufga,uqu:J:OJﬂf 7

display values :

Goto # (D)  Start 2t (C) Output 23T (B) Input 2ce! (A)
---- tag is used to display data in tabular form : : +rxdW:4_£Lu§u: F JJ”:GVJ —--|8
<th> (D) <tr> (C) < table > (B) <td> (A)
The foundation of all security system is formed on which principles : : Qfﬁgu)y”c.u:g‘ku(gﬁ& wr|o
Ethical (3115’ (D)  Complex 045 (C) Simple »sl- (B) Logical (A)/(
. i "'_ = A
Expression (A+B) . (A+C) is equal to - g ‘adn/.l/.é --- (AtB) . (A+C) s~==1110
A+(B+C) (D)  A.(B.C) (C) AB+A.C (B) A+ (B.C) (A
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: ( PART-I J3 )
8 2. Write short answers to any Four (4) questions : g O 4 /y L =iy (4) s = Jf -2
(i) What do you know about -5W's? ,#v‘_‘_'..;.‘,_,“.;:-,-‘_-.-w:;:,-. ?4‘-_,;/(:@_, 2% T

A (P19 S TR ()
Lo S GRS e (i)

e b ()
AN ) S/ D) )

(i) Define boundary test data. .
(iii) Explain the technique of prototype.

(iv) How we define a problem?

(v) Differentiate between anchor and hyper link. *

(vi) Describe the purpase of <i>and <b > tags. T _é ugﬁ*(__@ <b>.l<i> (vi)
8 3. Write short answers to any Four (4) questions : . of e 4 /3 L ety (4) / & J:( -3
(i) Describe binary number system. _ -’Z_-’:@U)J(w?d:ﬁdll; 0]
(i) Define NOT operator. ) @%ﬁ /U/jz-{f NOT (i)
(ék}u)
oS @ _— 3
3. (iii) What is meant by truth values? Sl /Lfc_u“w’:/ (i) -3
(iv) Differentiate between volatile and non-voIatll i IS J L‘Unutuu EUss  (iv)
(v) Explain data privacy. -_é JL&;Jdﬂubd/ L (v)

(vi) What is meant by trade secret?

8 4. Write short answers to any Fo

@ "c‘.:/gc./ud/lg’ (vi)
Questions: 2 ey A L iy @) < 3 4
A PR B ()

(i) Describe internet briefly.

(i) Which protocol is us| ransfer files? ":_ t')"dl:"”‘g J"‘ d/) bdfiulxuf (i)
(iii) Narrate the working of'web browser. é Uk < b'/'?‘K/_fzu'/_n (iii)
(iv) In a client server model is client software or ‘-’j:;.b"tzg‘aﬁ;uywtfu'd:bywlf (iv)
hardware?
(v) Write a tag to make text italic. 2y f“._@#’ LSl ()
(vi) Define hyper link. -é - /"'J.ﬁ/:’ b (vi)
Note : Attempt any Two questicns. R 2 -2 ) -g ICHh 4 L ey »e Jf o

2,6 5. Define an algorithm and argue on its -’cfi: .-wl.‘nd//b)zu 1 L/U’fé’:' ..Q i -’q‘f - /’L(f%’m = ]

role and importance in problem solving.

8 6. Explain the understanding IP addressing. _ -",4{ oSS P 6
2,222 7. Write down the characteristics of a good password. _Efi-/_( fo_ur‘;uf snJ &é' =T
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L.,J.Zuuc:..gﬂu:/'béfé.;&l/d:.dlrﬁggéKQL‘! -ujé’:é: D.sCBA c@'ﬁ;@?&d‘r/z fudad
-(ﬁ/ﬂwyiio/ﬁufgjﬂJL/Q Juk ¢ L/ﬂu;;buﬁ/'c,ug -é}/@d}&ﬁb&/’bw&:w

Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-
book. Cutting or filling two ‘or more circles will result in zero mark in that question.

E-mail stands for ——--- : 9,&?{ (E-mail) J<$1]1-1
Electronic messége (D) Electronic medium (C)  Electronic mail (B)  Electrical mail (A)

Which of the following HTML tag ‘- t'nJ(«"*"’g L/C‘J:’f_‘.«?_g HTML Vu)/:.—uﬁd it
is used to make text bold :

<hi>(@)  <hr>(C)  <b> B) 5\ <i> (A
- \ &
Expression (A+B)+C is equal to ----- : : c‘-dn/.f@\/“-- (A+B)+C ué;{ K]

AHB+C) D) A(BC) () ABAC(B)  AHBC) (A)

How many rows are in vigenere table : %@ P Jﬂt.[ JWU;J/ L/:Jd '/‘g‘: 4
54 (D) 32 (C) 7> 20 (B) 26 (A)
S PV ST 3N |-
¢l (B) Decision ($il-Jed (A)

In a flow chart/_Zsymbol represents:

Input / output <z

Connector }p/ (D) Processing u-é.:"){ (C)

IPV6 address is made up of - binary bits - e b UM A <o UL IPVE| g
255 (D) 128 (C) 32 (B) 16 (A)

------- is a gfaphical representation of an algorithm : ; ‘ajtﬁld“/r‘; K(%JI 7

Solution ' (D) Flowchart &b (C)  Graph i/ (B)  Matrix ¥ (A)

Which of the following tag is used : ‘Lt'ndl;’lé{’&d JL{(" l:_-,qug/‘ chj:’/c; o J.' itrlg
for writing most important heading :

<h3> (D) <h2> (C) <h5> (B) <h1> (A)
Installing and selling tgt'tlv‘-(t/&:/'uldwlugw/ ﬁ.:ﬂb«oﬁ)l&f’{/’{{&gaﬁgﬁ 9
unauthorized copies of software on refurbished or new computer are known as :
Online piracy L,('./’&cﬂ}ul' (B) Client server over use Jjg .33 A/..‘xflf (A)
Hard disk loading 59354 (D) Counterfeiting $ibJ? (€)
Number "15" is equal to --—-- in binary system : k- ‘at’ﬂ/.l/.é ----"15"/.‘;u.‘.'("/ d}’g 10
10000 (D) 10011 (C) 10010 (B) 1111 (A)

117-023-1-(Objective Type)-14500 (5833) (New Course)
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( PART-1 3l .2 )
8 2. Write short answers to any Four (4) questions : o (OAR) 4 /" L iy 4) /b = Jf -2
(i) What is divide and conquer rule? Yc.; /U/c, J/ JJJ J fqu /(J )]
(i) What is candid solution? °‘¢)1/U/¢.J}"»j (i)
(iii) What is byte? Sl e (i)

(iv) Which symbol of flow chart will be used to "del.”‘fu/!kduﬁ;u/wbé:cwlé"n <=5" (iv)
represent the condition "n < = 5"?

(v) Write the difference between paired tag and singular tag. @/bu&ﬁ J/}Q”.ﬁ SA (V)
(vi) Define HTML. W ASHTML (i)
8 3. Write short answers to any Four (4) questions, °F J AT 4 /‘? L =y (4) /b = Jf -3
% -5J.de"(“//d/‘9f (A23)I6 (i)
(i) What is meant by memory? o %5 Se sl U S (i)
3. (iif) What is meant by truth values? @ ?g:yl;(c;Jx,l—fw’;/ (i) -3
@ e LA Lk AND (i)

(iv) Write truth table for AND Oper
S Y aBIbedE (v)

(i) Convert(423)4 into binary number system.

(V) Write the purpose of co

(vi) What is meant by ion? “4.)’/&:45)&55 (vi)
8 4. Write short answers to any Four (4) questions : il ayn AL oy (@) S = O 4
(i) What is meant by client? "a:/U/c.. w!b( (i)
(il) Explain the FTP. e bJFTP (i)
(iii) Define the data communication. _é_»yﬂfumiu,.\ﬁ&s (iiiy
(iv) Describe the hardware sharing. -’Z;: u.l;f..f /"ﬁ: T=ask o (iv)
(V) State the definition list. | ULl s (V)
(vi) How the table is created in HTML? ' 2_‘.‘44/ J':‘uf.' HTML  (vi)
( PART-II /o <)
Note : Attempt any T\n;o questions. -g =2 L oelly s e J:( T
8 5. What is test data? Write a note on three types of test data. il .:,,J/_._(LJ"'J d/‘j / ?‘Lt‘ﬁgﬂf;}_‘f:“ -5
2,222 6. Wirite a note on any four layers in TCP/IP models. & &i{)ﬂzkd&fadﬁfﬁhTCP/lP -6
8 7. Explain substitution cipher method with examples. -’cf::/ oo u;’lf‘*d/;ég /&:dﬂ«);?’ Kl 7

117-023-I-(Essay Type)-58000 (New Course)
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Lu'!u/»c_u"u:/bcf;:d.Védlr//(éb/dli -u"ZL_) D C'BA uU:’.anJ:JLV/ WLy
-bfﬂjr"hlﬂu'iwau“ u/r‘d/d,fg Jo¥ ! 4../4:@3/':0:&/4:....( Lty ST ARSI %

Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-
book. Cutting or filling two or more circles will result in zero mark in that question.

It is used to transmit e-mails from one place 3§.t'ﬂd‘f;'2‘.f-r.¢./db ;Gd/»g,guﬁf‘}idl 1-1
to another place :
I.P (D) SMTP (C) HTTP (B) FTP (A)

Which of the following is not a valid list tag :‘a‘ﬂ’v,@.»/u: HTML TSy u:J,}zw 2

in HTML : @
<dl> (D) <ol> (C) <mi> (B)‘ 1> (A)
In AND operator " P and Q" can also be u*éJu‘ M and Q" X/ iy TAND 3
written as ----- :
P=Q (D) PIQ (C) (@%Q (B) P.Q (A)
Which of the following does not include the 14@}?&(U’J &/ ﬁ)«.‘)b«gc;ufdj SOV V)
types of software piracy : ‘
Liability Gshrss (B) O\S Soft lfting Lo (A)
Online piracy u:’/’gc/u : Client server over use Jg 433! A/.U»’LK (C)
All of the following are ty@?data except : Y i Uid U«,S.:.'.:*‘(V"u: St 5
Invalid test data 5o nt (B) Valid test data &3 chees (A)
Positive test data &3 ieb (D) Absent test data ki *se (C)
Which topology is more reliable : ':_/WIJ Fasl IS )’Uu’uf 6
Star topology ~ S.JL/- (B) Bus topology &AL (A)
Mesh topology (- )Jlf'L/' (D) Ring topology (% f/ (C)
Total steps of problem solving are : W J’ /féz_/d',l’/ 7
7 (D) 5 (C) 3 (B) 2 (A)
<u >tagis used for: : ‘at‘lggdla'*"'b’..f% u>|g

Italic the text g N Lef/“:’/u.'." (B)  Bold the text aL:fL/ugufu" (A)
Colour the text 2“2/ 2o k34" (D) Underline the text 2:’/ L@Jﬂé’.&u:‘ (C)

Making illegal copies of software is called —-- : awf._--tud,v d:’G’/ d/ A 9
DOS 15 (D) Hacking &t (C)  Phishing &5 (B)  Piracy (5L (A)

Best example of volatile memory is : e JL/Q’ /J S J FTIET)
Hard disk {35/ (D) ROMpu (C)  RAME (B)  USBU-(Ai-f (A)

118-023-1I-(Objective Type)-12500 (5834) (New Course)
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( PART-1 J3 @)
8 2. Write short answers to any Four (4) questions : : ZJ IR 4 /""" L =y (4) s & G/ -2
S o [ Ay (i)
(ii) Define candid solution. & 4 FSsl i)
(iii) Differentiate between flowchart and algorithm. _é uyJ/u: ﬂfwlugﬁ i)
(iv) Why testing is important in problem solving? “a(" ’U/ ..é/!gd’ L& (iv)
(V) Explain the use of < UL > tag. @@{ l/dl.’plfj< UL> (v)
Uk

(vi) Write the name of main parts of web page. tZ U (' lﬁCu; (vi)

8 3. Write short answers to any Four (4) questlong {&%Oé AT 4 /" L =y (4) I = Jf -3
(i) Define the number system. @ -é/ ..»y /'U/(/ )
(i) convert(423);s into binary. @%5 -’c.‘i:gf“,«?’uﬁdl‘:f (423) (i)
“E ISt Seit (i) 3
LE A 1 OR ()
SE YL ESKS ()

(i) What is prototype?

3. (iii) Describe the non-volatile memory. @
(iv) Prepare truth table for ‘OR' o ©
(v) Describe the purpose of

(Vi) What is meant by attack? “aﬂ/\fc,..ﬁl L (vi)

8 4. Write short answers to any Four (4) questions : : ol A4 4 /‘" L =ty (4) /e = Jf 4
() What are the names of communication medium? -dgﬂ "u‘c,u)/u/( At S S (i)
(ii) Define protocol. -éf: - /’JJ:C’:{ (ii)
(iii) What is the use. of SMTP? e br W1 SMTP i)
- (iv) What is meant by physical layer? ?c".)l/gc, /’:’.‘ﬁ- / (iv)
(V) What is meant by attributes of tags in HTML? ?‘g.:!/ga_a"uyjd/j HTML (v)
(vi) Write the method of creating graphicai hyperlink. -é;&g )’Kd..b».ﬁ/:’ hf?l/f (vi)

Note : Attempt any Two questions. ( PART-II = : -é <R Loy e Jf Y
2222 5. Describe types of test data in detail. -éu.l.;c_d:‘;’;f'wld/lé};/f -5

8 6. Whatis router? Explain the process of routing with the -&‘gywﬁg,)AJJ@JJZﬁL ?g{;‘& -6
help of example.

8 7. Explain the types of cyber crime. _é :)L‘u«f(lﬁld/ ("l/;" - 7
118-023-ll-(Essay Type)-50000 (New Course)
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Lvlﬁuuc_u:u:/’béé)&L«édb’/;{d(&lﬁ -ujéfc:..) D» CBA &L‘ﬁ;«f}!ﬁédb’/" JOF
_(ﬂJﬁwylguﬁd:&JfJL///: Jok L L/Z:(u:/'buyc....g _ZL’:/cu}L/:LJCﬂ)JWJW

Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or fi Ihng two or more circles will result in zero mark in that question.

In ---- strategy the organizer defmgs the IISE "To do task" is : at‘/ v J/JU!‘K /'!/)u” Lf J’ J 1 -1
Divide and conquer WS 6/)’)/?:.;1 (B) Guess, check, and improve b #osl Zbec il (A)
Prototype oy (D) Act it out L3 l...a’.*; 1 (C)

In a flow chart, diamond symbol represents : <'_d/ U:../‘WJM KPA ,_,J‘,,b 2

Connector /‘-w/ (D) Processing ué‘.’){ (C) Decision $il-de (B) InputAoutput o3 T e (A)
- e 60 » » . LT
Which number system digital computers used to store data :: u"rz_/d %B%Lzu//:;;{ if’;éﬂﬁ/ &../;rk: 3

Hexadecimal Jd' ‘u?! (D) Binary Jlf (©) 1 (B) Decimal ($/l%#/ (A)
What is the decimal value of (1000001), : @ Ll.r(.»’u'/l,»‘ld/ (1000001), 4
(69,0 (D) (65) (C)&f& (67 (B) (66)i_(A)
| want to excel in computer science" is a : : & e ..f “U)"Lﬂot/(}l besl2Un u’" b—/r'{/’ ”15-1
Truth value O. 2351/ (B) Truth table J" %1/ (A)
Compound pr n u’ﬂ)‘;’d{fci l;f (D) Proposition u?-){{d{ (C)
IPV4 address is made up of ------- b\;1)aw bits : : 4"_0.@.. J"d/"lg ..... dj,fgl IPV4|g
30 (D) 32 (C) 29 (B) 31 (A)
----- means making illegal copies : :‘Lt/igu:w &:’G'/;;ﬂ/c. e |7
Privacy &f Iy (D) Browsing L3l (C) Right &4, (B) Piracy ui/:f_g (A)

Borrowing and installing a copy of a software : 9(:‘11;4/ QL /t/d&)lﬁq (Jﬁ:dv‘f’[dﬁ"c.a/»ff 8
/

application from a colleague is called :

Soft lifting B (B) (\ Online piracy (52 LJ/UUT (A)
Hard disk loading 5:’4554 (D) Counterfeiting ..,C’ 56 (C)
In HTML, to underline a word "Pakistan", Lt‘er’lu,,C.--- GE/L/JU/ﬁ’f"Pakistan"Eﬂu:HTML 9
we use - tag .
<uli> (D) <ui> (C) <ul> (B) <u> (A)
In a web page, images are added with the ----- tag : c.t‘lpl,?jcup(.g.--- :(/r"u" & w2210
<image > (D) <img> (C)  <photo> (B) <pic> (A)
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( PART-I il .»)
8 2. Write short answers to any Four (4) questions : : é A 4 /‘"’ L =y (4) A; e éf -2
(i) Why RAM is called a volatile memory? T t’lgtgfuﬁ/ S J’,L‘Umf RA ()
(i) (1024),, hexadecimal convert into decimal number system. -2.’_: J ju.‘.(lﬁd/\ﬁ’!f (1024)1& (ii)
(iii) Define flowchart. S b i)
(iv) What is boundary test data? ‘-'g_}j%"’./é&i.b:‘:d/ﬁfg (iv)
(v) Define secondary memory. -é -/ /.‘.d/ Sl (v)
(Vi) What is byte? Sl (V)

8 3. Write short answers to any Four (4) questions : f) 14 /‘" L =y (4) Aa . J:( -3

() Draw truth table using "NOT" operator. z’:/;fé../dlr’b;'/ﬂ”NOT" (i)

- A0 TP CLI N ()

(iif) Define logical expressions. %@ -é Ykt /.’.Jﬁﬁ»( U? U (iii)

(i) Define commutative law.

(iv) What is meant by hardware sharing?@ ?{_;f/tfc_j /":‘.: TRad (iv)
O Pt & [
(v) Write types of connection. _é u.l;(lf"p(u'cr (v)

(vi) How to connect client er with each V1 L/,bgbd/:.,; /u..ﬂn/n’."x:f/.bjjv'f (vi)

other on internet?
8 4. Write short answers to any Four (4) questions : y J 4 /" L =y (4) /b = df -4

(i) Write a code of HTML of font size of -d‘lu/:fg HTML&:C‘LU/24/ L/_z”f..»r’"Punjab“ (i)

text 24 "Punjab".

(i) How many types of list in HTML? ?%:(LJ!J@:,JJ: HTML (i)
(iii) Define rospan. ..é.{l/‘."‘fuﬁ/ (iii)
(v) Define table. ZEAFE ()
(v) Differentiate between integrity and confidentially. S SASEEiDIae (V)
(vi) What is purpose of password? fe Cyradss .Lf ($193 L (vi)

( PART-1I (»J’)-é

Note : Attempt any Two questions. O 4 L oelly »e d!( O

4,4 5. Whatis meant by defining a problem? -éy Lé;gjﬁc_/l..":_&‘.’.ffé".:‘/’i ?‘L:ygcu:dﬁl’/ <5
Also explain understanding a problem. :
44 6. Write a note on star and ring topology. ..d/u’ :’lm.fwbb -6

2,6 7. Why we use data encoding? -‘ef_,y/Juwc,d,Zd/z%s °adeu/(Encodlng .f;fu!‘,(k: b

Also write any three data security issues.
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Lo l;../»c_wu,/uég,,c,védtrﬂq(dlf -u*cic_: D.JC'BA utb’j/laédlr/ oY
-(r;r"'bku'fwfou* e§i S Sk L L/Ju:/bubc...f S fe S Lo 3 F b

Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer book.
Cutting or filling two or more circles will result in zero mark in that question.

------- i§ @ graphical representation of an algorithm : : ‘LJQJ’.’J{)‘;KZ)E 1 -1
Solution ' (D)  Flowchart &b (C)  Graph 5L/ (B)  Matrix b (A)
Which symbol in the flow chart is used to start : c_(}rdtf’ﬂﬁ//b I./Uiu”fu’ uJb}’ 2
Decision 2! (D) Process J’:/ (C) Connector }O’ (B Terminal J”' ~/ (A)
O . z
Hexadecimal system has total ------ numbers : @Q@ix ...... uﬁ‘}“')" A3
15 (D) 18 (C) 0. 17 (A)
In binary number system "17" is equal to ------- : @ c.t’r/‘/L ..... 7" /gﬂf'}‘d/t 4
10000 (D) 10110 (Q)%@S 10100 (B) 10001 (A)
In Boolean algebra, there are -—--- possible var b@lues u'drd 2 L,(Vl/”' e l} JJ 2 15-1
1 (D) (\@ (B) 4 (A)
IPV6 address is made up of ------ blts : ) 95*4;, ﬁd}«’g ..... J}él IPV6 |6
16 (D) 128 (C) 32 (B) 255 (A)
------ used this method of encryption for - : L1 )(djay.,ngf é_"_fotlg;/u)f/?/;lu&?}zrli_ ..... 7
sending messages to his Soldiers and Generals :
Hacker J.&* (D) Caesar 4= (C) Vigenere ﬁ’; (B) Cipher £~ (A)
Which symbol represents the copy right protected product : ; 93/5:@/&‘/514};}":_& DQKM&J’;’/ 8
(R)o) ® () @ (&) © @A)
Choose the correct HTML tag to make a ‘c.t'ndlﬁ’lg LSO | de B HTMLUS = 450 |9
text bold : ’
<b> (D) <hr>(C) <br> (B) <i> (A)
Tag which is used for paragraph : : ct,t'ndl.&lzf_”/ Jlﬁ/;t-ﬂ.,? 10
<br> (D) <hr> (C) < title > (B) <P> (A
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( PART-1 Jit .»)
8 2. Write short answers to any Four (4) questions : : J = IR /"" L =y (4) :l'a & Jf -2
(i) Define algorithm verification. ?La.:ygc.wh,@d(;gf (‘5;‘71 (i)
(ii) Define candid solution. R A IO
(iii) Write the name of the steps involve in problem solving. Ut Z_yzdlﬁ’U’ l/d:(é; J_/U' (2 (iii)
(iv) Define binary number system. _é _4,1/"’.6("‘/ ﬂ’d/’-’g (iv)
(v) Why we called secondary memory is non-volatile ?c.t’labfu;:r S J@U:;utfd/:‘f $AL (V)

memory?
(vi) Convert (357), into hexadecimal number system. | c{J @( /J""" 51;‘:( (357),, (Vi)
8 3. Write short answers to any Four (4) questions : 2 ..,LL? /"‘ L =y (4) Ao & Jf -3
% 2 b JEAEOR ()

(i) Draw a truth table of an OR operator. % ;
(i) Write down NOT (P) for P proposition. %@ =0 NOT (P) g PU""J)’d/ (i)
(i) Write any two names of the law of Bogebra. el u»c.,d,QC;t} JJ s (iii)
(iv) Why we use server computer? ' L/Ulr*”u/ i f ,:';.6:/ (iv)
(v) What is protocol? fes /k;’/:__ Jf;’:{ (v)
(vi) Define router. -é _.é,f/‘.'.(,(/"u (vi)
8 4. Write short answers to-any Four (4) questions : ez L ey (4) = & 4
() Defne HTML.- EEJSHTML )
(i) Which tag is used for horizontal line in HTML? ‘.'c‘:.t‘ndb;‘lf ufz‘;_" L@JUJ’; IHTML (i)
(iii) Why &nbsp; is used in HTML? ‘e teUius &nbsp; UEHTML (i)
(iv) Define sabotage. _Z;:r - /‘.’.ur S f (iv)
(v) Define hacking. Sl ()
(vi) Give one example of paired tag. -’aﬁ‘:dﬁwﬂg{f A (Vi)
Note : Attempt any Two questions. ( PART-II i ) -J = U2 Ly »e J/ O
4,4 5. Explain determining requirements for a flow chart. -ég.}lﬂu"' b’ L In" -9

2,6 6. What is data communication? Explain components -Ju//;filﬁf/ u"ﬁ r‘/ sl /Lfc_u”c

of communication system.

2,6 7. What is phishing attack? Write three characteristics of -é{;&?}‘édd éf‘,(g)fd ] ?ﬁ‘_t'ng..{? s 7

phishing e-mail.
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L_.J:?://)c.,ufuy’béé)'ﬁ.vz_db’/;{(éﬂ}b? ..ujéfé..: D s C'B‘A QUJ?,.'«@?Z:J’}’/; ted

-(ﬂ/rjw*‘ﬁa/ﬁ‘ﬁcuﬂﬁfé;//: Joy L J../Z!Z);/":a)&]c;.g -ﬁ’)/;d}&ﬁh:cfbwaw
Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

.

-—----- links allow you to go from one part of the same : {.b‘(gLf&;/»:.dZ.ﬂJLG"%»g ..... 1 -1

page to another part :

Tag g (D) Hyper text dwg/:,; (&) Anchor K (B) Hyperlink _ﬁﬁlg (A)

Service of internet provide us -——---—-- : - &S % S S J oo 2
SMTP (D) TCP (C) ISP (B) HTTP (A)

The IPV4 address is made up of ----—-— binary bits : fe U J&' d/'",l, ..... ﬁjél IPV4|3

30 (D) 32 (C) 29 (BJON 31 (A)

(&5
<>@




(2) LR -Gl-2)

A computer network is used in -—------ crime : fe Cl [{’/ J(z;” s L’ /‘.g.:.{ e (Z u/

4-1
Computer /‘:_g.{ (D) Program ('/j{ (C) Cyber ~ - (B) Software &322l (A)
Temporary memory is volatile and permanent memory is -——-: ‘adu‘..",ﬁ;: ..... 23] ‘Ldli‘: U'.?VJIE'U» 5
RAM %, (D)  Memory (< (LC) Semi-volatile J/UUHU‘: (B) Non-volatiIeJ/L‘U»ut (A)
Which tag is used to create a hyperlink in a web page : : ‘Lmdu&f..éwfzﬁfi, 6.6/:’94&/,;_9 6
< hr > (D) <P > (C) <b> (B) <a >(A)
In a flowchart, diamond symbol represents -------- : te 3// /;lb' o d/ i3 e ;uol'g Py 7
Connector}g‘?/(D) Processing ...é.:’:g (C) Decision Siloded (B) Input/output g3 T / Lo (A)
Total number of logical operators are : e e d/ sz{)l J?u 8
2 (D) 4 (C) 3 (B) 1 (A)
-------- is a cyber attack to make ‘;_La;ud-b“tLJWiLJJu/J’wJ;qwf"Jf@_._Qt/.’wgt P |
machine or network resources unavailable for a user :
Piracy &/’& (D) Hacking & (C) Phishing ¥ (B) DOS V13 (A)
Before problem solving, we need to first - problem: @& b S e € u@@. LSS S & ‘f( 10

Planning J!}. (D) Un-understanding (¢ (C) Determine (- {B) Analysis :/f (A)
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8 2. Write short answers to any Four (4) questions :

(i) Which five questions are necessary to
understand a problem?

(i) What is prototype?

(iii) What is meant by candid solution?
(iv) What is the purpose of using the terminal
symbol in flowchart?
(v) What is meant by mark-up language?
(Vi) Write down the name of tags types
that are used in HTML document.
8 3. Write short answers to any Four (4) questions : ’ér .:« .

(i} How to convert binary number to a decimal _¢. C bc_,JV e
number? Explain with an example.

(&i5.,)

(V) 021 EINEI N Jv
(/) GraaplasD 1@y
R -Gy 145 0 =,

40 A4S

( PART-1 U3 »)
& un L i (a) e 3 -2
PU‘LJ’U/A/‘...U'}’((/LC.—UJQ_LL/J’)CVJ {i
et S 2 (i)
VR Y S A 1
QLG/JL’*"gW(/ ;_/.J&JJ” S ..u\a)’ (iv)

fe st S c.f/}“J..A o {v)
B L OISR b BHTML (v

L et @) s = §f 3
p R S fudE )




(2) RG]
3. (i) Define memory and write the name of its types. -"."’j (L'.ﬁ (l;” 2 é .9/7 d/ S (i) -3
(iii) What is proposition? Explain with example. _é 6‘) = Jl‘;" LB é_( = cﬂ){j'{ (iii)
ol e (B G (V)
s LS W
e lp e EY LI (V)
ol ez Lty (4) S e O 4

(iv) What is meant by decimal number system?
(v) What is counterfeiting? B
(vi) What is meant by hard disk loading?
8 4. Write short answers to any Four (4) questions :

(i) What is network of networks? Give one example. 2 Jedl ‘-’:‘L_g‘;c’.b_f‘( et (i)
(ii) What is meant by message in data communication? ?c‘_:i/gc.g / (l_a;,ufguuﬁ.»,.ufm (i)
(iii) Write a note on file transfer protocol (FTP). ot L Jﬁ){ A Je (i)

e U Uiy (W)
e LA W

e pf T ko (V)

( PART-1I o ) .
r & O 4 L oely »e df Y.
e ST M gl 5

(iv) What is protocol?
(v) What is hyperlink?
(vi) What is meant by head section?

Note : Attempt any Two questions.

8 5. How do you determine the requirements for a flowchart?
Wirite in detail.

8 6. Define computer network model. Explain its any -Zfi:yu:gfiﬂufdéfd/ f _éibéff"u(dﬂ..ﬁ:.a;}m( -6
"‘

three layers.
8 7. What is cybercrime? Explain its types. 2 J! ?q.J!/lfc.(/!/f.’ - 7
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L_,uz.w,f_u:u,;uefé_;.‘/_vLJvMQ 602 - LEs D ul CB ALl Jiy: o
Gzl St § S Sk | LS st KT B S LIS 55
Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer book.
Cutting or filling two or more circles will result in zero mark in that question.

—————— tag makes the enclosed text bold : e b e £ S U dy S 8|1
<bd> (D) <br>(C) <b> (B) <bold> (A)

Routing is process of taking data  : ﬁ:_t’('al?‘f:/?/)‘l’ e L Té./»/LL‘;fc.L T.gu.n/% Jjglju 2
from one device and sending it to another device in different -------- X
Area L/ (D) Path j._l: (©) Network J».:g (B) Channel Jff (A)

IPV4 is divided in ------—-- groups : fe b (5; o U caee S IPv4|3
8 ) 6 ©) 4@ o@m

(213 | ©




(2) AHR -42-2\

-------- is the process of encoding data : : c‘-.f ¥ 60 d/ (o3 e - T
Availability d?’) (D) Confidentially $21Jl (C) Patent 24 (B) Sabotage dJ{n..J..f“ (A)
Which solution is not reached through proper algorithm or - tl‘au@ﬁ;:_(Planning) JU;Z:H/‘JV:U’J{ 5

acal e Candid solution 5)-2,:( (B> - Prepared solution JSoie (A)
Best solution gf ¢/ F4 (D) Strategized solution S d’{y 2 (C)
Which language is used to make website : te 3:7 Je1 2{[ b Al YU u"/ 6
HTML (D) VB (C) C++ (B) Java (A) '
For(4),s the binary value is ~—-- : P s JC 2L (4)e v
0011 (D) 1010 (C) 0010 (B) 1111 (A)
Which symbol in the flowchart is used to either startorend 4‘;JnJWizg(C'ﬁwJnywu'u/ufdu.lg,ﬁ 8
the flowchart.
Decision4415 (D) Process J"ﬁ{ (©) Connector}gf (B) Terminal J;:/‘ (A)
A password contains at least how many characters long = - & oz ij 4 7 X { & (f nJl ug 9
18 (D) 14 (C) 8 (B) 6 (A)
One giga byte is equal to ---—--- : A <A (J .Q 10
1024 PB (D) 1024 TB (C) 1024 KB (B) <\ 1024 MB (A)
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( PART-1 Jit ) . )
i oun LoV )k e & 2

8 2. Write short answers to any Four (4) questions :
(i) Write two strategies for planningasolutionA ‘Z‘fg ugv :»g » 2{.{ dy-r"” J uw (1)
(i) Write the importance of flowchart in problem solving. -é =) J Ll & ég S P < (1)
(it) What s the problem analysis? e Sl g = ,_._/f. L e (i)
(iv) Write the basis of two metrics for efficiency of algorithm. -Z"j(t U gf ’(J,_ :.L.qu( dﬂ?iﬁ! (Bj,ﬁ' (iv)
(v) What are the singular tags? St Lx g /g‘ JF (v)
(vi) Write the tag for line breaking. e Wdt’:”.g/‘ LJJQ“-—L Z_./u_( 2y (Vi)
3. Write short answers to any Four (4) questions : - ‘,,_5 = W2 & L =y (4) s & Gf -3
te ol P $oe b AW

8
ystem?
Yy e dm:‘J'w» (ii)

(i) Whatis meant by number s

(i) What is meant by volatile memory? %
(2’?‘_'0/5) @O&
O

o



2) IR 622!
B ot Y R (11000001), i)y -3
e ()
fe )/L—rc—..t/»J L ()
o 2 LG d? W)
ol wyz L ey (4) s = O 4
S Shee nd )
RS NI VR ()
e | b /; (iif)
R e J,Ou Hrds )
<LJ/L'(C—J"CL5)LU‘HTML (v)
fUpz &”J Lt Lla e BHTML (Vi)

3. (iii) (11000001), convert into hexadecimal.
(iv) D;fine the byte.
(v) What is meant by hard-disk loading?
(vi) What is counterfeiting?
8 4. Write short answers to any Four (4) questions :
(i) Define computer network.
ii) Define the protocol.

(
(i) What is hyperlink?
(iv) Write a note on file transfer protocol (FTP).

(v) What is meant by body section in HTML?
(vi) How to write headings and sub-headings in

an HTML document?
( PART -II /0 <)
r -é HL’)’ L Ul e é}( u]
B ke ~Lw/uJJIJ.,A”h 5
@Ju,c.ﬂ S L F e

-g‘gugoﬁ’d/djg & Jﬁn/uu/ S slp Ve $F & 7

the internet.

Note : Attempt any Two questions.
8 5. Explain any four symbols of flowchart in detail.

8 6. Explain routing process in detail.

8 7. What is meant by encryption?
Also explain the importance of encryption for every dayti
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